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The quantities x=;,_, y:E and
VH0€0 B

I g ;
z=—— are defined where C-capacitance,

R-Resistance, I-length, E-Electric field,
B-magnetic field and € B - free space
permittivity and permeability respectively.

Then:
Options :

Only x and y have the same
40503642816, dimension.

Only y and z have the same

40503642817, dimension.

Dni}r ¥ and z have the same

40503642818, dimension.

x, iy and z have the same dimension.
40503642819. -
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|-wEg, E-99d 44, B-gEa a6 3N ¢,
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Options :

Fac x TG y FT TAE faEE F
40503642816.
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40503640817, FE y T z i THA fEr €

40503642818, T X Tl z T T T 2

40503642810, x, y T z T A E
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The velocity (v) and time (t) graph of a
body in a straight line motion is shown in
the figure. The point5 is at 4.333 seconds.
The total distance covered by the body in
bsis:

A B
s '\x

0l & D .t {in s)
N
_ﬂ 1234 g/ﬁ

Options :
37
— m
40503642820, -

40503642821, 11 m

40
— M
40503642822, =+

40503642823, 12 M
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—El 123 456
Options :

2

37
40503642820, -

40503642821, 11 m

49
— 1M
40503642822, =+

]
40503642823, 12 M
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A spaceship in space sweeps stabionary
interplanetary dust. As a resull, its mass
“dAM(L)
dlt

v(t) is its instantaneous velocity. The
instantaneous acceleration of the satellite

increases at a rate

—bo? (1), where

15 :
Options :
2b EFE
40503642824, MY
b 1:3
ML)
40503642825. j
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bo?
2 M(t)
40503642826. :
—bo3(t)
40503642827.
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Hafg H UF Ha" AF, TSl & 94 F gA
TG F g G ¢ | JROTeEEy 39

FHM o 9@ T oL ‘”‘11{”:11:12 (1) T1 =&t
at
o(t) ATeAfOTR 371 B 1 SiAfe A H1 A
= % :
Options :
b’
40503642824, MU
bo
40503642825, U
bod
2 M(t)
40503642826. :
—bo(1)
40503642827
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A ring is hung on a nail. [t can oscillate,
without slipping or sliding (i) in its plane
with a time period T, and, (ii) back and
forth in a direction perpendicular to its

plane, with a period Tz' The ratio T—T will

T
be :
Options :

WM

40503642828.

""|h

40503642829.

=

40503642830.

ol

40503642831.
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T Boel UF HiAd WM EH &1 T8 (i) T
HHdel H o1 53 A1 fReel T, A 9
ST R TRl & 31 (ii) ST9 HHTe & oreEd
fem # T, HEd®wE 9 -9 Ser #R
TFM ¥ S AL B

T
Options :
2
40503642828, °

2
3

40503642829.
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40503642830, ¥
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40503642831.
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The acceleration due to gravity on the
earth’s surface at the poles is g and angular
velocity of the earth about the axis passing
through the pole is w. An object is
weighed at the equator and at a height h
above the poles by using a spring balance.
If the weights are found to be same, then
his : (h<<R, where R is the radius of the
earth)
Options :
R22

40503642832.

40503642833. o

40503642834, 58

40503642835. 2
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Jesl T TeE F YA W IEEE w0y ae
gal q 9 I A4 " 92E I H00E
T ‘€1 U T 1 R JHS T W adl
gE ‘W FEE W U FHFEE Gl 5R1 AT
T AfE B R S A e I S g
@9 91E h 1 9 870 ¢ (h<<R, 5& R g
F = ®)

Options :

W

Rzm‘

¥

40503642832. "

Rznjz

4g,

40503642833.

Rzmz

40503642834, 58

R2w2

2o

40503642835. =
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Two different wires having lengths L, and
L,, and respective temperature coefficient
of linear expansion o, and ,, are joined
end-to-end. Then the effective temperature

coefficient of linear expansion is :

Options :
1 (g oy LELI
g+ on 2
40503642836, 1“2 (Latly)
g+ g
40503642837. 2
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(v LI [ “ELZ

40503642838. Litls
2\joey g
40503642839.
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21 3T AR I erardl L, 99 L, 8 Ud I
WA A FER OE, FE, o 99 o
Hfe 37 T & 93 1 5 9 @ 9HE TEE
WHW 9 N BT

Options :

0ty (g LoL4

o + o (Lo+Ly ;E

4
40503642836.

o+ o

40503642837. 2

oLyt as0q

40503642838, “17L2

2\Jaqaz
40503642839.
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In an experiment to verify Stokes law, a
small spherical ball of radius r and
density p falls under gravity through a
distance h in air before entering a tank of
water. If the terminal velocity of the ball
inside water is same as its velocity just
before entering the water surface, then the
value of h is proportional to :

(ignore viscosily of air)

Options :

40503642840. T

2z
40503642841, T
40503642842, T

40503642843. T
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e a8 yaioa &3 & few uE @i |
ﬁﬁﬂﬁﬁﬁﬁmﬁﬁquﬁm p%, Th
T F 2T F HaE U h 9% 9 TFEE
& & FAaia R S &1 Afe et w1 e
T I | Tid T8 IHT o e HHE a9 9=
H 37 % 9 2 A1 h, r T 59 THE GHE
T : (9 T T T )

Options :

40503642840. T

2
40503642841, T
40503642842, T

405036428431
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In an adiabatic process, the density of a
diatomic gas becomes 32 times its initial
value. The final pressure of the gas is found

lo be n imes the initial pressure. The value

of nis:
Options :
3
40503642844, 128
1
40503642845, 02

40503642846, 2

40503642847, 326
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fFdt sar gfwan § o fgmmm= = =
T Tl T 32 TA1 W ¢ | iR & S
H T 1 299 39F YE % o9E T n T 4=
Eﬂ?ﬂ'%l I‘|3‘?T'HT3€¥W:

Options :
3
40503642844, 128
1
40503642845, 2

40503642846, 2

40503642847, 326
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A driver in a car, approaching a vertical
wall notices that the frequency of his car
horn, has changed from 440 Hz to 480 Hz,
when it gets reflected from the wall. If the
speed of sound in air is 345 m/s, then the
speed of the car is :

Options :

40503642848, >+ km/hr

40503642849, 0 km/hr

40503642850, 24 km/hr

18 km/hr
40503642851.
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T F1 UF 990 & TF 91 W 21 9F
e STER 1 TR A A 2 o S5 A
440 Hz ¥ 9Ige1s 480 Hz &1 91 21 afg 9y
T 71 FT 9T 345 m/ s B 9 FF T =0 F
B ?

Options :

40503642848, 2% km/hr

40503642849, 0 km/hr

40503642850, 24 km/hr
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18 km/hr
40503642851.
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Ten charges are placed on the
circumference of a circle of radius R with
constant angular separation between
successive charges. Alternate charges1, 3,
5,7, 9 have charge ( + q) each, while 2, 4, 6,
8, 10 have charge (— q) each. The potential
V and the electric field E at the centre of
the circle are respectively :

(Take V=0 at infinity)

Options :

40503642852, V=0;E=0

v=0;g-——04
40503642853, 4megR
109 p_g
dreg R ’
40503642854
. 10q . i 10
W e e o7
40503642855. i b 47megR
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5= R % U%F 99 F1 9 W 10 HEw
T T T TIEE FErE e & =" F:id
0 WA T | TR AR, 3,5, 7,9 F W
FEA: (+q) FET AR 2, 4, 6, 8, 10 F FN
FA: (—q) FAEAWE | I F FE W@ (V)
SR forgd &9 (E) 2 -

(4 W V=0 wter)

Options :

40503642852, V=0;E=0

v=0;5-—1%
40503642853, dmegR
_ 109 .£_g
’TF_[]RF
40503642854
v qur __10g
4 !
40503642855. e dmeoR
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A parallel plate capacitor has plate of
length “I", width "w’ and separation of
plates is ‘d". It is connected to a battery of
emf V. A dielectric slab of the same
thickness ‘d’ and of dielectric constant
k=4 is being inserted between the plates
of the capacitor. At what length of the
slab inside plates, will the energy stored
in the capacitor be two times the initial

energy stored ?

Options :

40503642856, /3

21/3
40503642857, 21/ www.FirstRanker.com
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40503642858, /2

40503642859. &

Question Number : 11 Question Id : 40503611841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T HHH @2 9 & 2 & o= 7,
et ‘w’ iR SEF B F 9= w g A
THF] U {920 9 9 (emf) V. 9T 92
3 g A ¥ 1 9 e S wrES
k=4 F UF WHIA 2F F I F T
¥ i W | R ¥ s e
fora T W, Hanfi ¥ wfea st geet aret
Options :

40503642856, /3

40503642857, 21/3

oy

40503642858, /2

40503642859. /4

Question Number : 12 Question Id : 40503611842 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

[n the circuit, given in the figure currents
in different branches and value of one
resistor are shown. Then potential at point

B with respect to the point Aids:

2V
1 I:_E ]{ \ 'ﬁ'-f'ﬂ".l D I | | }
{3 { 20
.;'ﬁu[ | || | AVAVAY F
e 2A
Options :
40503642860, T 1V
40503642861, — 1V
40503642862, T2V
40503642863, 2V
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o3 T wftay # fafaet wmansti | am oiw s
wfaliy #1 7F famd @ 1 f6g A F 9

fig B 1 fawa & :
2V
E .-'L"-.-"'-."h'-,"-'u D I | | | H
1A) )
x :5 20}
Ar 1 [ TAVAVAY F
1v € 2A
Options :

40503642860, T 1V

40503642861, — 1V

40503642862, T2V
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_2V
40503642863.
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In the circuit shown, charge on the 5 pF

capacitor is :

2 uF 4 pF
||
I

| |
! 3
6v O v
Options :

40503642864, 212 BC

40503642865, 10-36 nC

40503642866, 10- 20 KC

40503642867, 18:00 pC

Question Number : 13 Question Id : 40503611843 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T3 T afigy § HIfia 5 uF W A=Y T

2 uF 4 wF
| [l
| 1
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Options :

40503642864, -1 nC

40503642865, 10-36 nC

40503642866, 10-90 nC

40503642867, 18:00 pnC
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An infinitely long straight wire carrying
current I, one side opened rectangular loop
and a conductor C with a sliding
connector are located in the same plane,
as shown in the figure. The connector has
length [ and resistance R. It slides to the
right with a velocity v. The resistance of
the conductor and the self inductance of
the loop are negligible. The induced
current in the loop, as a function of
separation r, between the connector and
the straight wire is :

one side opened long
c conducting wire loop

Options :

-ﬁ [ol

40503642868, T BT
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-IJ.,_ﬂ Lol

40503642869, 27 Rr

40503642870. T

40503642871.
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HaTfed 91 [ 91 U 37 oras &1 o
el 97, UF W H Gl AEAER o9 3R
fama am d@dmeE dfed 9@® C U &
a9 H fog € S % 23 ° =9in w2
AT Taah1 SaT | 21 Ry R 2, =rfe
W v 9 | fagsa &1 faga =@+ C =
AT @R 9 W w7 ¥ A
Y 91 vd HAEE F =9 F gl r 8 A o
H YA o 8

one side opened long
¢ conducting wire loop

o Lol

47 Rr
40503642868.

2o Lol

40503642869, 27 Rr
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po Lol
40503642870, T Rr
2u9 ol
m Rr

40503642871.
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Anironrod of volume 10 ~ % m® and relative
permeability 1000 is placed as core in a
solenoid with 10 turns /cm. If a current of
(.5 A is passed through the solenoid, then
the magnetic moment of the rod will be :

Options :

40503642872, 2% 107 Am?

40503642873, 20 x 107 Am=

40503642874, 500%10% Am?

3 A2
40503642875, 0.3 x10° Am
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10 3 m® 31T UE 1000 \HfeqF Fr=viierdl
F1 U ©le i B Fl U AR H FHi
1 T T T | IR T FHE
10 T¥/cm Bl 4Afg 05 A 9/ gfefas o
geifed *1 94 @ TS F TEERE A
B

Options :

-GR
40503642872, 2% 10~ Am
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40503642873, 50 % 107 Am?

40503642874, 500 107 Am?

2 A2
40503642875, 1.5 10 Am
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The correct match between the entries in

column I and column IT are :

1 11
Radiation Wavelength
(a) Microwave (i) 100m
(b) Gamma rays (i) 107 m
(c) A.M. radio (iii) 10" "m
waves
(d) X-rays (iv) 107 °m

Options :
40503642876, (@)-(1v), (b)-(ii), (c)-(1), (d)-(iii)

40503642877 (@)-(D), (b)-(iii), (€)-(iv), (d)-(ii)
40503642878, (@)-(iil), (b)-(ii), ()~(1), (d)~(iv)

40503642879, (@1, (B)-(1), (c)-(iv), (d)-(iii)
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=T 1 e Y= 11 =61 wiafei & 5= 98 faem

L
I 1

fafaTor T
() HH T (i)  100m
(b) I & (ii) 10" Bm
() uwuA I T (i) 10 ¥m
(d) X-feeol (iv) 1073 m
Options :

40503642876, (a)-(iv), (b)~(ii). (c)-(1), (d)-(iii)
40503642877, (@)-(1), (b)-(iii), (c)-(1v), (d)-(1i)
40503642878. (aj-{iii}, (b}'{i-i]r {C}'{i}r {d}'(iv}

40503642879 A0, (B)-(1), (c)-(iv), (d)-(ii)
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Two coherent sources of sound, 51 and 52,
produce sound waves of the same
wavelength, A=1 m, in phase. SI and 52
are placed 1.5 mapart (see fig). A listener,
located at L, directly in front of 52 linds
that the intensity is at a minimum when
he is 2 m away from 5,. The listener
moves away from 5, keeping his distance
from S, fixed. The adjacent maximum of
intensity is observed when the listener is
at a distance d from Sy. Then, d is:
T
A

Options :

40503642880.
40503642881, 2™

40503642882, 3 M

(%)}

40503642883, @ M
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21 FAEAG = B[, S, R S,, A T
A=1m Td TAF Fell F1 = T I F
F1'S, RS, THTHH 1.5 m F g0 W
T € (o1 Sfigd) | we A, S 6 S, % 2
AT 2 m 90 W L W e g, dida =
HYA T AN S, ¥ G A E TAE S, H
TH! g TEHE & Wl 2 G S, |
d T R & 1 i e Afuas W €
al d =1 9 &

s

?;f/ ;; :

S |

Options :

40503642880.
40503642881, 2 M

40503642882, O M

(57}

40503642883, @ M

Question Number : 18 Question Id : 40503611848 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A radioactive nucleus decays by two
different processes. The half life for the first
process is 10 s and that for the second is
100 s. The effective half life of the nucleus
is close to :

Options :

12 sec

20503642884
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40503642885, 22 S€C.

40503642886, O Sec.

40503642887, ° Sec.
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T famfza 21 2| weel afsran &1 @9 10s
AR TED FT 100 s 1 SH AF F g
FuTg 1 Frepeas 5 2

Options :

40503642884, 12 Sec.

40503642885, 22 SeC:

o

40503642886, © SEC

L=l

40503642887, ° €&

Question Number : 19 Question Id : 40503611849 Question Type : MCQ Option Shuffling : Yes
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Orientation : Vertical
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Two Zener diodes (A and B) having
breakdown voltages of 6 V and 4 V
respectively, are connected as shown in
the circuit below. The output voltage V|
variation with input voltage linearly
increasing with time, is given by :
Winpuﬁﬂ V at t=0)

(figures are qualitative)

T lB ‘_l T
AYY gv /25 S R=40002
Vin Iw
*“". 100 Q) l
Options :
Vo _— 6V
ST 4V
40503642888. time—
vl’.!
,/ 4V
40503642889. time_—»
Vo / 6V
///,
.-’//‘;
4
40503642890. time——
Va 6V
/,— ——————————— 4V
40503642891. Hme_s

Question Number : 19 Question Id : 40503611849 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

= =9 T 99y H HAY: 6V UE 4V 99
Hieedl 91 &1 L SEE (A UE B) 98 ™
g1 Ifaw gfga fAaw deea @ o5 w5
ot direean v, & i S e o ¥ -
(t=0RVF A Vere=0) (T G
<)

T o B :;'.l T
AN v X ER=000

‘n.’m 4V ‘v’U
=100 0
1
Options :
A _— 6V
/_,*- ::FF- ________ 4 U
.l',f{(-/-.
iy —=
40503642888.
VU
4V
x"/}z
40503642889. i —
Vv, / 6V
.—"//
40503642890 =
V::: iR
s 4V
40503642891, T —>
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Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A galvanometer is used in laboratory for
detecting the null point in electrical
experiments. If, on passing a current of
6 mA it produces a deflection of 2% its
figure of merit is close to :

Options :
40503642892, 066" A/div.

| S L
40503642893, 06X 107~ A/div.

3 .
40503642894, <107~ A/div.

40503642895, 533 Afdiv.

Question Number : 20 Question Id : 40503611850 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TN H UF e F 39En oy
TE H 3 fas 7| e F o e s
21 afg 6 mA Fi *Mﬂﬁﬁ%ﬂﬁﬁmzﬂﬁf
+1 fa8iq Io0=1 291 2, o SHET SudiE
(figure of merit) TITHT B

Options :

40503642892, 666° A/TETas

40503642803, 0 X107 A/Tefa

3 :
40503642804, 3 %1073 A/Tefas

"}. o 'F‘?j‘f‘am
40503642895. - 33" A/
Sub-Section Number : 2
Sub-Section Id : 405036834
Question Shuffling Allowed : Yes
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Question Number : 21 Question Id : 40503611851 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A body of mass 2 kg is driven by an engine
delivering a constant power of 1 J/s. The
body starts from rest and moves in a
straight line. After 9 seconds, the body has

moved a distance (in m)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 21 Question Id : 40503611851 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

2 kg =1 U 7% U 59 GRI HeEAIfewd € 9 1

1]/s &t Fraa ofsd wem@ &2 W@ 21 98 959

frerraren 3 Tferm S et T H Ferdt 2

Qsmaﬁmﬁﬁﬁ@(lllﬁ] Gl
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 t0 5.002
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Correct Marks : 4 Wrong Marks : 0
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A thin rod of mass 0.9 kg and length 1 m
is suspended, at rest, from one end so that
it can freely oscillate in the vertical plane.
A particle of move 0.1 kg moving in a
straight line with velocity 80 m/s hits the
rod at its bottom most point and sticks to
it (see figure). The angular speed (in rad/
s) of the rod immediately after the collision

will be
Im
ol
—

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 22 Question Id : 40503611852 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

0.9 kg FHH TS 1 m o3 1 TF Taal

TT A UF TR q U wew T ¥ F R

TR THa | faTm 9 E=aF Td w5 el

T1 0.1kg 1 TF F9 80 m/s Ff T H =

a # Jed gU B % Ay A fem 9 7

o+ 3T Torus o € (Fo= &f@u) | 53 O

% Td 912 T2 &I FUI T (rad/s H) B0

|

T

1m

o ]
-—
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
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Text Areas : PlainText
Possible Answers :

5t0 5.002

Question Number : 23 Question Id : 40503611853 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Nitrogen gas is at 300°C temperature. The
temperature (in K) at which the rms speed
of a I-I2 molecule would be equal to the rms

speed of a nitrogen molecule, is

(Molar mass of N, gas 28 g).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to0 5.002

Question Number : 23 Question Id : 40503611853 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

FsersE 719 300°C q9HE W @l TE E ) 98
aoEE (K #), 99 9 gsgisa &) &1
- (rms) 97 AG2eH Y F F-
-l &7 % AU B, B 1

(N, 79 =1 Hier =M 28 g ©)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002
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A prism of angle A=1" has a refractive
index p=1.5. A good estimate for the
minimum angle of deviation (in degrees)
is close to N/10. Value of N is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 24 Question Id : 40503611854 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

% Ty, fous v =1 s9adqis 1.5 8, &

FM A=1°%| =9%F fagem s =1 fFFzam

streper (feff #) N/10 €vmi N &1 99 &
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Question Number : 25 Question Id : 40503611855 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0
The surface of a metal is illuminated
alternately with photons of energies
E;=4eVandE;=2.5¢eV respectively. The
ratio of maximum speeds of the
photoelectrons emitted in the two cases is
2. The work function of the metal in (eV)
1S

Response Type : Numeric

Evaluation Required For SA : Yes

—Show Word Count:Yes

Answers Type : Range

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Text Areas : PlainText
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5to0 5.002

Question Number : 25 Question Id : 40503611855 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

UF °Iq FT WAE FAMW E, =4 eV R

E,=25 eV &1 sl % Ml G-I The =1

W & | 59 21 feafadi 7 Seafed e e

1 sAfermay el 1 SF9E 2 ¥ 1 59 o

FEFEA (eVH)BM |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Chemistry
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Section type : Online
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Section Marks : 100
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Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036835
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 40503611856 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1

Among the following compounds,

grtnn'ura'r rical isomerism is exhibited by -
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ijiriczl

40503642901,

CH,

PN

40503642902. Cl

40503642903.

H;C
40503642904,

Question Number : 26 Question Id : 40503611856 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fafafan diftel § 9 sfadE aEge

Options :
CHCI
e

40503642901,
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CH,

PN

40503642902. Cl

40503642903.

40503642904.

Question Number : 27 Question Id : 40503611857 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The final major product of the following

reaction is :

Me
\{ ‘R__, h‘ {;} J""LCED !.r IJ},ridin;:_t
|

11) BI’E; FEC13
(i) OH ™ /A
NHs
Options :
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Br

Me
40503642905. NH,

Me Br
40503642906. INER

Me

Br

40503642907. WH

Me

Br 4
40503642908. NH,

Question Number : 27 Question Id : 40503611857 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
frefafas afafFEa = =i ge1 3= 2
Me ~
= SN .
w‘ w (i) Ac,0/ fafdha
: (if) Bry, FeCl,
(iti) OH™ /A

!
é {

Ha
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Me
40503642905. NH;

Me Br
40503642906. INER

Me

QL' Br

40503642907. WH

Me

Br 4
40503642908. NH,

Question Number : 28 Question Id : 40503611858 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following polymers is not
obtained by condensation polymerisation?
Options :
40503642000, \Y1on 6,6

Nj,-'Inn &

20503642910
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40503642911, Bakelite

40503642912, Buna-N

Question Number : 28 Question Id : 40503611858 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
frfafad age=i | 4 FH-91 T 9geisd
- E e

Options :

40503642909, T 6, 6

40503642910, M= 6

40503642911, TFEIEE

40503642912, I-N

Question Number : 29 Question Id : 40503611859 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The foﬂnwmg molecule acls as an :

N| =
CHs)5
"N'J{ 2)2-. - e
L (Brompheniramine)
Lﬁt‘,f
r
Options :

40503642913, AAnti-depressant

incnacinala  Anti-bacterial
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40503642915, ‘Antiseptic

40503642916, Anti-histamine

Question Number : 29 Question Id : 40503611859 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ffafaa o) feas! @ STar & o 22

N| -

(CH4)5

N~ 2)2 | =
b

Options :

40503642913. RIRREERIEED

yfg-gewafas

40503642914.

40503642915. ret

40503642916. Hid-fexet

Question Number : 30 Question Id : 40503611860 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The major product of the following
reaction is :

HO CH,CH
Y

- H,50y

mij'fD
www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Options :
CHCH;

e

C L

40503642917. O

CH,CHs

40503642918, O

40503642919, O

40503642920.

Question Number : 30 Question Id : 40503611860 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
frfafaa stufrn #1 9@ 5= & -
I ID\ _CH,CHj;

=

H,50,

S R0
Options :
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CHCHj

40503642917. O

CH,CH,
““{:ljl

e - --...:"'-

40503642918, O

CH,CH,

40503642919,

40503642920.

Question Number : 31 Question Id : 40503611861 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The major product formed in the following

reaction is :

CH;CH = CHCH(CHz), — 2

Options :
CH, CH(Br) CH, CH{CH;}n_.
40503642921. 2 = e

40503642920, 3 CHa CH(Br) CH(CH;),

CH, CH, CH,, C(Br) (CH
40503642023, =g G CHL, ClB) (CHo)
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40503642924, Br(CHa)s CH(CH;),

Question Number : 31 Question Id : 40503611861 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ffafEa Afvfwa 5 999 Ten 3= 395
T

CH;CH = CHCH(CHj ), — 2!
Options :

CH, CH(Br) CH, CH(CH,),
40503642921. :: = e

40503642927 3 CHy CH(Br) CH(CH;),

CH, CH, CH, C(Br) (CH
40503642923, 3 272 (Br) (CH;),

40503642924, Br(CHa)s CH(CH;),

Question Number : 32 Question Id : 40503611862 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Theincreasing order of boiling points of the

foﬂnwing cc}mpc}unds is

OH OH OH OH
f“:l 5 [ J f’ifJ e
~ I I I

CH, NO, NH» OCH,

| I1 III IV
Options :

40503642925, 1V <I<Il <1

| P A VAP 1§ P
40505642926. © ~° T

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

40503642927, M <I<II<IV

40503642928, L <HI<IV<II

Question Number : 32 Question Id : 40503611862 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
feAfeafad Al & FagiT F e FH e
OH OH OH OH

H:_:-H‘/,.-"

CHj NO, NH,  OCH;

i ¥ - oy g I

I 11 Il I\
Options :
40503642925, IV <1< <TI

40503642926, 1 <IV<II<II

40503642927, I <I<II<1V

40503642928, 1< HI<IV<II

Question Number : 33 Question Id : 40503611863 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The correct order of the ionic radii of
O*, N’ ,F ,Mg?*,Na* and AP" is :
Options :

N3~ <(O?~ <F~ <Na* <Mg?+ <
40503642929, AT
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AP* <Mg?* <Na* <F~ <02 <

3
40503642930, N
AP* <Na* <Mg?* <0* <F~ <
Nfi
40503642931.
N~ <F~ <0? <Mg?* <Na'* <
AR
40503642932,

Question Number : 33 Question Id : 40503611863 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
0%-, N3, F-, Mg2*, Na* aa1 AI** &

A st 1 e wH T

Options :
N3~ <(O?~ <F~ <Na* <Mg?+ <
A3+

40503642929.
AP* <Mg?* <Na* <F <02 <
N3

40503642930.

AP+ <Nat <Mg?* <0*~ <F~ <
N2
40503642931.

N3~ <F~ <0? <Mg?* <Na* <

40503642932. °

Question Number : 34 Question Id : 40503611864 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Boron and silicon of very high purity can
be obtained through :

Options :

electrolytic refining

405036429373
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40503642934, quation

40503642935, VAPour phase refining

40503642936, ZON€ relining

Question Number : 34 Question Id : 40503611864 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A U5 90A a4 Tofasq fFr=farad 5 9
T G =T T W § 7
Options :
40503642933. 1 B i :

40503642934, T IR
40503642035, TS AT TR

40503642936.

Question Number : 35 Question Id : 40503611865 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Hydrogen peroxide, in the pure state, is:
Options :

40503642937, linear and almost colorless

planar and blue in color
40503642938.

non-planar and almost colorless
40503642939.

40503642940. linear and blue in color

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com
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Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

b O o |

FITSIS TIFHSE IG Taee § 2l & ;
Options :

40503642937. SR SRR SR

40503642938, Tl AT el T =l

40503642939, ranactl TET TFTHT TTel

40503642940. S TR

Question Number : 36 Question Id : 40503611866 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The one that is NOT suitable for the

removal of permanent hardness of water
is :

Options :

40503642941, lon-exchange method

Trealment with sodium carbonate
40503642942.

40503642043, —algon’'s method

40503642944, Clark’s method

Question Number : 36 Question Id : 40503611866 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Frfeafiga & @ FF- fafy soge 7@ &2
Options :
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40503642941, SAA-TafE fafy

40503642947, TNESTH FHITE o T IR

40503642943, 1T 119

40503642944. faty

Question Number : 37 Question Id : 40503611867 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Reaction of ammonia with excess Cl,
gives :
Options :

NH,Cland N,
40503642945, :

40503642946, [VH4¢l and HC

N’CIq and HCl
40503642947. -

NCl; and NH,CI
40503642948,

Question Number : 37 Question Id : 40503611867 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
eI, Cl, % swfesa 3, sfyfFn 3 2
Options :

40503642945. NHCIELN

40503642946. NH G HC

40503642947, NCly T8N HC
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NCI, @91 NH,C1
40503642948. 4

Question Number : 38 Question Id : 40503611868 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The compound that has the largest
H—-M-H bond angle (M=N, O, 5,C), is :
Options :
40503642949. NH;

40503642950. 2

40503642951. HS

CH,
40503642952.

Question Number : 38 Question Id : 40503611868 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fAfafEg 5 9 9899 H- M~ H 3TE9 Fm
(M=N, O, S, C) 7@ = AT+ 2
Options :

40503642949. NH;

40503642950. H,0

5
40503642951. Hy

CH,
40503642952.

Question Number : 39 Question Id : 40503611869 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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Consider the complex ions,
trans-[Co(en),Cl,] * (A) and
cis-[Co(en),Cl,]* (B). The correct
statement regarding them is :
Options :
both (A) and (B) can be optically
40503642953, active.

both (A) and (B) cannot be optically
40503642954, 2ctve.

(A) can be optically active, but (B)
40503642955 cannot be optically active.

(A) cannot be optically active, but (B)

40503642956, can be optically active.

Question Number : 39 Question Id : 40503611869 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2iH-[Co(en),Cl,] * (A) Te
f&4q-[Colen),CL,] * (B) Heel 31 T fa=m
FifaT |
T e H HE YA T

Options :

10503642053 (A) T (B) ST e[ =ofeh 21 Hehd ¥
(A) T9T(B) ST Y JUisk &l B Fhd

40503642054, €

(A) g7 i B Hehell €, T (B) 401

40503642955. bl @ i

(A) Wwﬂﬁmm% = (B)
40503642056 T T B WA €
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Question Number : 40 Question Id : 40503611870 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

An element crystallises in a face-centred
cubic (foc) unit cell with cell edge a. The
distance between the centres of two nearest

octahedral voids in the crj,rstal lattice is :

Options :
40503642957. V2a

40503642958, @

40503642959, V2

d
40503642960, 2

Question Number : 40 Question Id : 40503611870 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

UF T Fetsh-ohi=d 914 (fcc) T He H
fefom 2 ¢ fos & #a 81 frea
S A & Had THYT A [Tl &
FHF AR

Options :

40503642957. V2a

40503642958.

40503642959, V2

d
40503642960. 2
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Question Number : 41 Question Id : 40503611871 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The correct statement about probability
density (except at infinite distance from
nucleus) is :

Options :

40503642961 [t can never be zero for 2s orbital

40503642962 [t can be zero [or 1s orbital

B C 1T ~ .
40503642963, Lt can be negative for 2p orbital

. § ) y
40503642964, 1t can be zero for 3p orbital

Question Number : 41 Question Id : 40503611871 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Wil 99 F 9= 5 Hel Y (AfYE
T = gl T aH % sifaiem) ®
Options :
TE 2s FEF F U w4 g AE A
40503642961, FFAI |

IE 1s F47% ¥ fav w199 @
40503642962. T B

TE 2p FEF & AU HOHF B
40503642963, T4l Tl

IE 3p FHF & fau [yA B

40503642964, T T

Questlon Number 42 Questlon Id 40503611872 Questlon Type MCQ Optlon Shufﬂlng Yes

O“entatwn Vertlcal www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Correct Marks : 4 Wrong Marks : 1
Lattice enthalpy and enthalpy of solution
of NaCl are 788 k] mol ~1 and 4 k] mol ~1,
respectively. The hydration enthalpy of
MNaClis:

Options :

1
40503642965, /80 k] mol

40503642966, /84 Kl mol ™!

L= - 1
40503642967, ~ /80 K] mol

_ 1
40503642968, /54 k] mol

Question Number : 42 Question Id : 40503611872 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
NaCl Fi Sieish GaedT o1 oo uiedr A
788 k] mol ~1 @41 4 k] mol~! 1 NaCl 1
Options :

1
40503642965, /80 k] mol

40503642966, /54 k] mol ™!

o - 1
40503642967, — /80 K] mol

= 1
40503642968, /o4 kJ mol

Question Number : 43 Question Id : 40503611873 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The variation of molar conductivity with
concentration of an electrolyte (X) in
aqueous solution is shown in the given

figure.

Molar ,
Conductivity

k3

The electrolyte X is :
Options :

40503642969, H¢]

40503642970, NaCl

40503642971. NG,

CH,COOH
40503642972,

Question Number : 43 Question Id : 40503611873 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
WAt e H, U S STee (X) 1 A
o+ TYL e J1eTahdl & fa=er &1 Fefatag

o=t o gr Frefaa fFn S 2
e | |
\\

L 4

TE ATHIXE
Options :

et

40503642969, 111
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40503642970, Nacl

40503642971. KINOs

40503642972. CHL00H

Question Number : 44 Question Id : 40503611874 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The rate constant (k) of a reaction is
measured at different temperatures (T), and
the data are plotted in the given figure.
The activation energy of the reaction in

k] mol~!is: (R is gas constant)

107,
Ink _
5
0= 33 3 4 3
103
T
Options :

40503642973, R

40503642974, /R

40503642975. 2R

40503642976, 2R

Question Number : 44 Question Id : 40503611874 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

1
eUIIECt ftlal kS . 4 Ebl““g Tﬂal kb « 1
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U AR F = i (k) i faf ami
(T) R AT Sl & 91 kel &1 9 fad 7
o o e e = &1 @afafswan =t afeam
T k] mol "1 H ¥ (R 7Y foriF )

107
-
Ink
BT
0713 3 4 3
103
T
Options :

40503642973, R

40503642974, /R

40503642975. 2R

40503642976, 2R

Question Number : 45 Question Id : 40503611875 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Adsorption of a gas follows Freundlich

adsorption isotherm. If x is the mass of the

gas adsorbed on mass m of the adsorbent,

5
the correct plot of o versusp IS :

Options :

40503642977. P
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200K

x 250K
m _~Z -~ 270K

40503642978.

40503642979.

5 |
\

40503642980.

Question Number : 45 Question Id : 40503611875 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U 19 &1 Afasiay wa=fas A
TEATI o5k Tl SATH0T F & | 97 AT
ﬁﬁﬁ%“f‘?lm‘ﬂaﬁiﬁfrﬁﬁﬁﬁaﬂﬁ%ﬁx%ﬁp
g % K 4
EHI‘IEFHEETWWE%:

Options :

40503642977. P

g |

'1\.\
s
N
b

1

S
k3
S
~

40503642978.
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— (250 K
T 200 K
40503642979.
= 270K
x 250K
W MK
40503642980, P
Sub-Section Number : 2
Sub-Section Id : 405036836
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 40503611876 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Considering that ﬁﬂ > P, the magnetic
moment (in BM) of [Ru{Hszﬁjz:' would
be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 46 Question Id : 40503611876 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ay > P 92 faaR %4 8Y, [Ru(H,0) 2 #
JaHg A0 (BM A EM |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :
5to 5.002
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Question Number : 47 Question Id : 40503611877 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The volume, in mL, of 0.02 M KECrED?

solution required to react with (.288 g of

ferrous oxalate in acidic medium is

(Molar mass of Fe=56 g mol h

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 47 Question Id : 40503611877 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0
0.288 g HTH SAfFICIE F, T AT H,
A4 79 0.02 M K,Cr,0- % 59 s
(mL #) & AEvEFHa e, a8 |
(Fe %1 Hiel §=899M =56 g mol 1)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
5to0 5.002

Question Number : 48 Question Id : 40503611878 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

For a dimerization reaction,
2 A(g) = Aa(g),

at 298 K, AU = —20k] mol "1, AS® = - 30

J K I mol~1, then the AG® will be
]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range
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Text Areas : PlainText
Possible Answers :

5t0 5.002

Question Number : 48 Question Id : 40503611878 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

U fgaaa A4,
2A(g) = As(g),
F faw, 208 K W, AU®=—20k] mol |,

AST=—30]K~ 'mol~ 13| T s1fufE=a =
fae A= i

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to0 5.002

Question Number : 49 Question Id : 40503611879 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

For a reaction X+Y =27, 1.0 mol of X,

1.5 mol of Y and 0.5 mol of Z were taken
ina 1 L vessel and allowed to react. At
equilibrium, the concentration of Z was
1.0 mol L1, The equilibrium constant of

the reaction is — . The value

of xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 49 Question Id : 40503611879 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0
www.FirstRanker.com




:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

SAfuferan, X+Y =27 & fau, X =1 1.0 914,
YH IS5A@ N ZH05HE H 1 LIHH
fomn = ® 9o == aAfufean 23 fomn 5
%1 HWE W, Z F1 grEdl 1.0 9 giaeiiet 2
HfufeEa #1 g foms 2

X -

E lx=HAAE |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 50 Question Id : 40503611880 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The number of chiral carbons present in

suUCrose 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Question Number : 50 Question Id : 40503611880 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
U H HEA gy
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002
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Section Id : 405036435
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036837
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 40503611881 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

.30
(i3 )

1-—1

\ A

The value of ig

Options :

-5
40503642986. ©

_n15
40503642987. ~

7[55
40503642988, ~

_nl5 i
40503642989. ~

Question Number : 51 Question Id : 40503611881 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

30
1+i/3 ) .
[—J FIHAE :
U o
Options :

5
40503642986 0
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_n1h
40503642987. ~

215
40503642988. =

— 215
40503642989. ~

Question Number : 52 Question Id : 40503611882 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If & and B are the roots of the equation,

7x2—3x—-2=0, then the wvalue of

¥ | B
1-a2 1-p2 is equal to :
Options :

1
40503642990, 22
27
40503642991, 16
3
40503642992, &
2
40503642993, 2

Question Number : 52 Question Id : 40503611882 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

AqfE o A1 B FHE 722 —3x —2=0 F qA
| - 9 I B 2
I—a= 1=p-

FHAE :

Options :
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a
40503642990, 2
27
40503642991, 16
3
40503642992, B
2
40503642993, 2

Question Number : 53 Question Id : 40503611883 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ifat+x=b+y=c+z+1, wherea, b, ¢, x,
y, z are non-zero distinct real numbers,

x aty =x+ta

y bty ytb

then is equal lo:

z ¢ty zZ+c
Options :
40503642994, Y(P—2)

40503642995, ¥(@—b)

40503642996, U

40503642997, Y279

Question Number : 53 Question Id : 40503611883 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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jIﬁ:’a+};=b+yr=4::-|—z-|-1 %_. Hﬁ?a,hfc. X,
y, z AW 9= arafas g= €,
|x aty x+a

y bty yib ey

Z cH y oy ol
Options :
40503642994, Y(P—a)

40503642995, ¥(@—b)

40503642996, U

40503642997, ¥(@¢)

Question Number : 54 Question Id : 40503611884 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If the system of linear equatinns

x+y+3z=0
x+ 3y + kiz=
3x+y+3z=0

has a non-zero solution (x, y, z) for some

L

i I.j'
ke R, then x | ‘TJ is equal to :
Options :
40503642998, 3

40503642999, ~

40503643000, 7

40503643001.

! O
Disp

Question 1d - 405036 884 Question pe MCQ Option Sk g . Yes
mber : Yes Is Question Mandatory : No Single Line Question Option : No Option
www.FirstRanker.com

lay Question Nu



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Az thgs T fweE

x+y+3z=0

x+3y+ kZz=0

Jx+y+32=0

#1, fFEl ke R, & o0, ©F ¥y &A@

i

e
T

|

b &

(x,y;z}%,_rﬁ 1‘1[“ ] T T :

Options :
40503642998, 3

40503642999, ~

40503643000, 7

40503643001.

Question Number : 55 Question Id : 40503611885 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

There are 3 sections in a question paper
and each section contains 5 questions. A
candidate has to answer a total of
5 questions, choosing at least one question
from each section. Then the number of
ways, in which the candidate can choose
the questions, is :

Options :

40503643002, 1200
40503643003, 2000

40503643004, 2299

40503643005, 2220 .
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Question Number : 55 Question Id : 40503611885 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

UF YT | 3 @ve ¥ 99 ues |ve | 5
T E | T e F ieE mve § 4 w9 g
FH UF U9 FAH Fel 5 Gl & I 29 T,
1 el 5 9 WAl 1 AT F Aol Hl
T E

Options :

40503643002, 1200
40503643003,
40503643004, 2255

40503643005, 2220

Question Number : 56 Question Id : 40503611886 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the sum of the second, third and fourth
terms of a positive term G.P. is 3 and the
sum of its sixth, seventh and eighth terms
is 243, then the sum of the first 50 terms of

this G.IP. is:
Options :
imm 1)
40503643006, 26
(%3

40503643007, 13

40503643008, 13
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ji{}-lﬂ' 1}
40503643009, 20

Question Number : 56 Question Id : 40503611886 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

AL qAT =Y 9] T AR 3 B 09 SHE B,
i AN AEE TS ANTEA 243 B, |1 TH
U 421 % HYH 50 TEI 1 ATEA © ;

Options :

imm 1)
40503643006, 26

iﬁﬁn 1)
40503643007. 13

i{?ﬁﬂ 1}
40503643008, 13

1 G

%{34.} 1}

40503643009.

Question Number : 57 Question Id : 40503611887 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If the sum of the first 20 terms of the series
Iﬁgl?[fl:,x | Iﬂg{?lfl-.}l | }.DS{?LH}I b2 is
460, then x is equal to :
Options :
40503643010, €~

40503643011, 7'/2

40503643012 4~
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6 2]
40503643013, 7/

Question Number : 57 Question Id : 40503611887 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

BRI

'103[?13'2 X Ir:rg{?m}.r I lng[?l,q}x I
WH 20 W& 1 ANTEA 460 T, T x TR T
Options :

40503643010. €

40503643011, 7'/2

40503643012. ¢

dis £
40503643013, 70/ #

Question Number : 58 Question Id : 40503611888 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

.?L'{ L'I: i | :|/J.'

M.'Il I _1'1 Fx2 -1

lim
r—l)

Options :
40503643014 does nol exisL.

40503643015, 15 equal to1.
40503643016, 1S equal to0.

is equal to \"E

40503643017.
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

{ 1': 'Il"-'Iz"'I-l—I]/I llll
lim ==

r
r—0 | 2 -4
\ l+x“+x 1

X

Options :
40503643014, F1 AT T 21

40503643015, 1 F T 21

40503643016, 0 F T

-
40503643017. J_ " el

Question Number : 59 Question Id : 40503611889 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

i
) i 1+x=1
The derivative of tan I[J—
x

4

7 ’
2x4/1 ;L’ Jatlrl

1 with
4

respect to taﬂ_I[

&,

1-2x

Options :

b
w |
)

40503643018.

N .
k| a3

40503643019.

S

40503643020, 1V

40503643021, 2
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Question Number : 59 Question Id : 40503611889 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e,
_I -1 ~,||||1|.\‘.'2 1
X=— 9 gan |1 ——
vy W _l' f)
= 2.’11{1 .'L'E
tan™'| ———— | % UMY HawHes ¢
| 1-2%2
Options :
-
40503643018, -
B
vl
40503643019.
3
40503643020, 1V
2.3

40503643021, 2

Question Number : 60 Question Id : 40503611890 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following points lies on the
—
tangent to the curve eV +2.y+1 =3 at
the point (1, 0) ?
Options :

40503643022, (~2 %)

o
40503643023, (2 0)

(22)
40503643024,

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

40503643025, | 2, 6)

Question Number : 60 Question Id : 40503611890 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g g #Fr T fag 9% eV + 2y +1 =3
& Taig (1, 0) T =t T2 oy9i T w e 27
Options :
40503643022.

40503643023.
40503643024.

40503643025 ¢~

Question Number : 61 Question Id : 40503611891 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If x=1 is a critical point of the function

flx)y= (3x%+ax—2—a) e, then :

Options :
2
yr=Tland X = E are local minima
of f.
40503643026. -
2
x=1and x = 5 are local maxima
40503643027, </
2
x=1isalocal maximaand X = 3
40503643028, 152 local minima of f.
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r=1isalocal minimaand x =

| b2

is a local maxima of f.
40503643029. '

Question Number : 61 Question Id : 40503611891 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
g x=1 %o flx)=@Bx2+ax—2—a) e*
o1 Tsh wifae (=g (critical point) e, Tl

Options :
2 & Z
x=1 qYl x = ;,.,F & TEME
GI=GERC L
40503643026. fag
' 2 = :
x=1791 x = ;,;‘mwmaaﬁq

40503643027, TS €1
x=1, [ TF A S=q4 a5 T T

2 . =
x =~ = [ U e
40503643028. 3"

x=1,fFUF T g fag g

2 (&l -
x = ;,fﬂﬁwmﬁﬁ%l
40503643029. ~

Question Number : 62 Question Id : 40503611892 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If j s —db=Alog,. [B()|+C
54+7smfA—2 cos—h '

where C is a constant of integration, then
B(©) .
—— can be:

A

Options : ]
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. 2sinb+1
40503643030, ° (SN0 +3)
5(2sind +1)

40503643031,  sinf+3

2sin0+1

40503643032, Sin0+3

5(sinf 1 3)
40503643033, 2sind+1

Question Number : 62 Question Id : 40503611892 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

cost
—dt=Alog, [B(0)|+C
e !5+?5inir—2c05“ir ?f‘| |
e . . : H E .
€ el C UF THEE A9 §, i} 3
T €
Options :
2sinf+1
40503643030, > (50+3)

40503643031,  sinfi+3

2sinf+1

40503643032, Sin0+3

5(sinf +3)
40503643033, 2sind+1

Question Number : 63 Question Id : 40503611893 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The area (in sq. units) of the region

A={{x,y): (x—1)[x]=y <24x,0 <x<2},
where [t] denotes the greatest integer
function, is :

Options :

4
R L |
3‘J:

B2 | =

40503643034.
40503643035,
40503643036, -

40503643037. *

Question Number : 63 Question Id : 40503611893 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Pﬁﬁﬂ ={{x,y): (x—1)[x] =y <2x,0 <x=2)
e [t] HEwH Ui Fer E, A (3
sl H) 2

Options :

4 1
R v
3'j:

3 |

40503643034.

gﬂfi 1

40503643035.

ENCEY
40503643036, -

| oo
193]

B3 | =

40503643037 °
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Question Number : 64 Question Id : 40503611894 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let y=y(x) be the solution of the

differential equ alion

dy

LL:ﬂl—#—"usml_ sin2xy, xe| 0,
dx

If y(w/3)=0, then y(w/4) Lseq_uaftn

e | =

Options :

40503643038, 2 V2
40503643039, Y=

40503643040, 2FN2

40503643041, ¥

Question Number : 64 Question Id : 40503611894 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A y=y(x), FTHe THH

'.

d
COSA _1f+ 2y sinx=sin2x, 151{} ' &+ B
dx 2

g1 afg y(n/3)=0 & @ y(w/4) IUE
&

Options :

40503643038, 2 V2
40503643039.

40503643040, ZHN2

40503643041.
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Question Number : 65 Question Id : 40503611895 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If the length of the chord of the circle,
> +1y7 =12 (r > 0) along the line, y—2x=3
is r, then r° is equal to :
Options :

9
40503643042. 5

40503643043, 9

40503643044, 2

40503643045.

Question Number : 65 Question Id : 40503611895 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Afg 1 22 +y2=12 (r> 0) I, @ y—2x=3
& STfaw, Sita i s ¢ ¥, o 2 e T
Options :
9
40503643042, °

40503643043, 2

40503643044, 2

40503643045.
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Question Number : 66 Question Id : 40503611896 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the line y =mx + ¢ is a common tangent
: | |

¥y

to the hyperbola L [ 1 and the
¥ 100 pd

circle 22+ y2=36, then which one of the
following is true ?
Options :

40503643046, T +5=0

40503643047, DM =4

PR
40503643048, 4c-=369

40503643049, € =369

Question Number : 66 Question Id : 40503611896 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
afs W y=mx +c HAfTRIR

-

.
2 2 e
L A gu a2+ 2=36 F U

100 64
e T e e A T
E &7
Options :
40503643046, Sm+5=0

40503643047, XM =4

ey e
40503643048, 4~ =7369

40503643049, € =369
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Question Number : 67 Question Id : 40503611897 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If for some « € R, the lines

x+1 y-2 z-1
=" = and

LI:
2 1 1

L W o T, o
2 - ” i 1 are coplanar,

then the line L, passes through the point :

Options :

L "
40503643050. (10, =2, =3

3y
40503643051, (10-2.2)

2, — -2
40503643052, (& —10, —2)

(-2, 10, 2
40503643053

Question Number : 67 Question Id : 40503611897 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gz fFedt o e R % fou, @

e
=l
I
=
k2
]
(S

: 1
Lyt ——=——=— owacia ¥ drm
L, o fag s o ¢, 98 9 :

Options :
40503643050, 107 =2 —2)

5
40503643051, (102, 2)

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

o .
40503643052, (& —10, —2)

(-2, 10, 2
40503643053

Question Number : 68 Question Id : 40503611898 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the mean and the standard deviation of
thedata 3,5,7,a,bare5 and 2respectively,

then a and b are the roots of the equation :

Options :
2 40018
40503643054, ¥ —10x+18=0
e =
40503643055, ¥~ 10x+19=0

40503643056, ¥~ —20x+18=0

40503643057, =¥~ —20x +19=0

Question Number : 68 Question Id : 40503611898 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

afe H2l 3, 5, 7, a, b F 959 997 qAF
o= #9v: 5 991 2 € @ a 9w b 5
T F Hed % TR

Options :

40503643054, X~ 10x+18=0

o T
40503643055, ¥~ 10x+19=0

40503643056, X~ — 20x+18=0

V2 — My —
40503643057, =¥~ —20x +19=0
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Question Number : 69 Question Id : 40503611899 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If .= 5&121{%] 51'_112[%1 and
\ i 1! i

af w) . 2fw)
M= cm:‘[— | 5;111“1 —‘ , then :
16 S
Options :
1 1 i
Ii= — —CGSI
242 2 8
40503643058.
s L,; icm'%
40503643059, V2
M = 1_ | énmi
40503643060, 2y2 28
WM = : W e

40503643061.

Question Number : 69 Question Id : 40503611899 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

PR -
731'ﬁfL=sin‘j'['—'| sinz['—'| GE|
'-L-lflz' xBJ

A - A - b1 x
M = mr;“[— | Hinz(— | € Tl
16/ B
Options :
1 T
= — —CGSI
242 2 8
40503643058.
s L,; écns%
40503643059, V2

www.FirstRanker.com



:l » FirstRanker.com

Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

| 1 T

M = = + —(C05—

40503643060. 2y2 2 8

M = | 1l

40503643061. W24

Question Number : 70 Question Id : 40503611900 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The statement
(p=(q—p))=(p—(pvq)) is:
Options :
40503643062 a contradiction

40503643063, 2 Autology

40503643064, “quivalentto (pvq)a(~p)

= I 'ELE" th i A o
10503643065, T uivalentin (pagq)vi~q)

Question Number : 70 Question Id : 40503611900 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
FH (p—=(q—p))=(p—=(pvq))

Options :

40503643062, T AR €1

40503643063, P TR 1

40503643064, P YU~ =P) T €

40503643065. (pAgq)v(~q) % THGeH 21

Sub-Section Number : . 2
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Question Number : 71 Question Id : 40503611901 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Let A={a,b,cland B={1, 2, 3,4}. Then the
number of elements in the set
C={f:A = B | 2¢ f(A) and f is not
one-onej is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5to0 5.002

Question Number : 71 Question Id : 40503611901 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

M1 A={a, b, c] 741 B={1, 2,3, 4} &
AT C={f: A — B | 2 ¢ f(A) T f Thah!
W) FeEmR R HE |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 72 Question Id : 40503611902 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The coefficient of x* in the expansion of

{1+x-+-.1‘2+_t'3}b in powers of x, is

—

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range
—TextATeas T PiaimText
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Possible Answers :
5 to 5.002

Question Number : 72 Question Id : 40503611902 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

xFAEH (1+x+22+2%)0 F TER H 2 7
TEE |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 73 Question Id : 40503611903 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the lines x + y=a and x— y=b touch the
curve L.f=.1'2 —3x + 2 at the points where the
a

curve intersects the x-axis, then 1— is equal
g |

to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 73 Question Id : 40503611903 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

gfe 3I@W x+y=a 991 x—y=b, IH

y=22—3x+2 FI A fagsi W ol wedt &

L = = d
TEl IE Teh x-HY F w2, A - TR
h]

Response Type : Numeric

J 1 = I (] 1 I A Xz
Lvaiaauoil nequircea ror sAa . 16
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 74 Question Id : 40503611904 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Let the vectors a, b, ¢ be such that
e .-

projection of b on a is equal to the

—
C

h‘ 4 and =4 . 1f the

— —

projection of ¢ on a and b is

—_—

perpendicular to ¢, then the value of

_— —_ -

a+ b c| is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 74 Question Id : 40503611904 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A 929 a, b, ¢ TH UFN & F
/.

a WYNY o F a W YSYF A T a9l

=4 ﬁ‘ﬂn‘?‘ =4 T ﬂfﬂg ED

b

_1_>‘

P mm%m‘_‘
FHH € 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range
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Text Areas : PlainText
Possible Answers :

5t0 5.002

Question Number : 75 Question Id : 40503611905 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

In a bombing attack, there is 50% chance
that a bomb will hit the target. Atleasttwo
independent hits are required to destroy
the target completely. Then the minimum
number of bombs, that must be dropped to
ensure that there is at least 99% chance of
completely destroying the target, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Question Number : 75 Question Id : 40503611905 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Ui % UF AHHN H, UF 99 & @44 T Wer

FE FH WA 50% T @ 1 I We

T2 F F fau F9 9 F9 3 =ad R/Hl FH

AEYIH €, 0 T F T4 e d T FHA

1 HHEA FH 9 w9 99% gHTEd =4 F

|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to0 5.002
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